43605
43612

®Roco—| Original ROCO-Er

satzteile

Original ROCO Replacement Parts

B | ArtNr Text i%%
1| 85060 Motor kpl. 57
Motor ass ®
2| 85614 | Halftring 0.3 mm 17
Traction tyre 0,3 mm
3| 85670 Schraube M 2x4 2
Screw M 2x4
4 | 85672 | Schraube M 2x6 2
Screw M 2x6
5| 85704 | Schraube M 2x2.8 5
ScrewM2x 2.8
6| B6202 Feder 2
Spring
7| 86418 Zahnrad z=17 2
Gear T=17
8| 86419 | Schneckenzahnrad doppelt 4
Worm gear double
9| 86704 Schnecke 5
Worm
10 | 86859 Schneckensatz kpl. 24
Wormset ass.
11| 87013 Kardangelank 2
Cardan joint
12 | B7015 | Kardanschale lang 3
Cardan bearing long 29— (5
13| 87073 Kardanwelle 4
Cardan shaft
14| 87123 Kardanwelle kurz k]
Cardan shaft short
15| 87128 Kardanhilse 5
Cardan collar
16| 87129 Kardanschale kurz 3
Cardan bearing short
17 | 89246 | Standard Kupplung 5
Standard coupling
18| 89266 | Kupplungskammer 3 e
Coupling chamber !
19| 898913 Radkontakt 5
Wheel contact
20 | 90506 Radsatz 17
Wheelset
21 | 90507 Radsatz m. 1 Haftreifen 18
Wheelset w. 1 traction tyre
22 | 90508 Radsatz ohne Zahnrad 16
Wheelset without gear
23 | 94849 | Drehgestelldeckel 8
Bogie frame cover
24 | 84663 | Getriebeteil 12
Gear part
25 | 94664 Getriebeboden 12
Gear bottomn
26 | 94665 Gelriebedeckel 10
Gear cover
27 | 94666 | Gewicht 12 2x oy e __@
Ballast ®_— > s =
28 | 94674 | ZurUstbeutel 18
Bag with accessories
29| 94679 | Schneckendeckel 3
Worm cover
30 | 95233 | Schienenraumer offen 6
Cow catcher open
31| 97496 | Zuristbeutel Grifte 10 t‘@ l_@
Bag with accessories handle I
32| 97497 Drehgestell A fir 43605 55
Bogie frame ass. A for 43605
33| 97498 Drehgestell B kpl. fir 43605 55
Bogie frame ass. B for 43605
34 | 97489 Drehgestell Mitte kpl. fur 43605 35
Bogie frame ass. middle for 43605 \
35| 97493 | Schienenrdumer geschlossen 6 33 36} 0. Abb. / no. ill
Cow catcher closed @) : Y -
36 | 97539 Drehgestell kpl. fur 43612 55 34 Drehgestell Mitte kpl. f. 43605 / 43.6!2
bogie frame ass. for 43612 Bogie frame ass. middle f. 43605 / 43612
a7 | 97540 Drehgestell Mitte fir 43612 35
Bogie frame ass. middie for 43612
—©®
.H@. I no. ill
Zurlistbeutel
Bag with accessories
@o. Abb. / ng. ill
Zurustbeutel Griffe
Bag with accessories handie
o. Abb. / no. ill.
30 Schienenraumer offen
Cow calcher open
35 0. Abb. / no. ill.
Schiengnraumer geschlossen
Cow caitcher closed
Blatt 306/ 2

Page 306/ 2




